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Telephone Survey Research Laboratory, Hong Kong Institute of Asia-Pacific Studies, The
Chinese University of Hong Kong

18 Bl I ~ BREREE T E s TBER

Hong Kong citizens aged 18 or above speaking Cantonese or Mandarin

DR BN R 2% ( Computer-Assisted Telephone Interviewing, CATI) #:4T
BRI S TIE - B 770 71,0024 1855 U BB @i i R (fF
BWEE/KFT » HifERER + 3.10%) - HEEAEEREEEN FHEEE - [
e 57 BT £526.9% 52 28.2% » T &R LA EoimtE -

Random sampling was adopted using CATI (Computer-Assisted Telephone Interview)
system. 1,002 respondents aged 18 or above speaking Cantonese or Mandarin were
interviewed. Sampling error is within £3.10% at 95% confidence level. The survey sample
contains both landline and mobile, their response rates are respectively 26.9% and 28.2%,
satisfying the scientific standards of survey.

Ry T AR FRE R MR A A I itV H BN - A& R e td Al iy
TR E AT BT SO AR SRS A ENIRERRER (weighting) - [E5) -
HR I BE S g BRI T A » SRETHRAME TR H B fH 012 7 A8 BLAE S
HHIA -

To better represent the distribution of the Hong Kong population, all data were weighted
by the probability of being sampled and the proportion of gender and age of people aged
18 or above (excluding foreign domestic helpers) according to the mid-year population for
2021 released by the Census and Statistics Department. The figures in this survey may not
add up due to rounding errors and weighting.
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Survey Results

FF LU A BRI TR RE - 31 BT 0F - 188, EATE < FEEH ) HIEAR T T -
Note: All data were weighted for analysis. When calculating the mean, samples responded “88. Don’t know / Difficult to

say” are excluded

CRRBHAR T T R T BRI A REEEER - MR RE TIREARER, - ToRE TIFER
B o IWEREELITEBGEEREREEEIE ? ) (QLEQINIXFFEEI%ETR)
‘We would like to know how the public understands “one country, two systems” in Hong Kong. On a scale where
1 indicates “strongly disagree” and 7 indicates “strongly agree”, to what extent do you agree with the following

descriptions of Hong Kong after the handover?’ (The sequence of Q1 to Q9 will be randomly displayed)

Ql "EEFr i FAETHIEHEEE  BITREREANMTHER - (REREEE? 1277 Kg#®
BE3E?

Q1 ‘After the handover, Hong Kong has been able to practice a high degree of autonomy, and has been able to
handle its own internal administrative affairs. To what extent would you agree? From 1 to 7, what score will you

give?’
HREL Hortk HRHE 7 EN T (EPa e
Frequency Percentage Valid % Cumulative %
1. 1 137 13.7 13.7 13.7
2. 2 74 7.4 7.4 21.1
3. 3 148 14.7 14.7 35.8
4, 4 224 22.3 22.3 58.2
5. 5 179 17.9 17.9 76.1
6. 6 100 10.0 10.0 86.1
7. 7 116 11.6 11.6 97.7
88. IBHIE / iFEk 23 2.3 2.3 100.0
Don’t know/ Difficult to say
4&=+(Total) 1002 100.0 100.0
HXEA Valid Sample: 1002 FR{EAEZA Omitted Sample: 0
SE¥543 Mean: 4.02 fiEsE Standard Deviation: 1.839



Q2 T[EEFZi%  FHAEERFEEILEIEE - ITARERE ? 1270 (REHEKEZDE?
Q2 “After the handover, Hong Kong has been able to maintain independent judiciary powers. To what extent would

you agree? From 1 to 7, what score will you give?’

B Btk R E IR EN T (=Pae
Frequency Percentage Valid % Cumulative %
1 1 136 13.6 13.6 13.6
2 2 68 6.8 6.8 20.4
3 3 153 15.2 15.2 35.6
4 4 216 215 215 57.2
5 5 155 15.5 155 72.6
6 6 124 12.4 12.4 85.0
7. 7 124 124 124 97.4
88. UEHIZE / 4r¥H 26 2.6 2.6 100.0
Don’t know/ Difficult to say
4E=1Total 1002 100.0 100.0
HREA Valid Sample: 1002 H{EAEZA Omitted Sample: 0
33543 Mean: 4.08 fE%EZE Standard Deviation: 1.870

Q3 "[EEFZ 1% » FBEARFTEEIIARE - (IREREIRYE ? 1277 » Mg &L I0E ? |
Q3 ‘After the handover, Hong Kong has been able to maintain independent legislative powers. To what extent

would you agree? From 1 to 7, what score will you give?’

HREL Horth HRE IR EN T (EPa e
Frequency Percentage Valid % Cumulative %
1 1 142 14.2 14.2 14.2
2 2 80 8.0 8.0 22.2
3 3 170 17.0 17.0 39.2
4 4 179 17.9 17.9 57.1
5 5 151 15.0 15.0 72.1
6 6 96 9.6 9.6 81.7
7. 7 115 11.5 11.5 93.2
88.  DENIE / R 68 6.8 6.8 100.0
Don’t know/ Difficult to say
ga=tTotal 1002 100.0 100.0
HREEA Valid Sample: 1002 B EEEA Omitted Sample: 0
SE¥543 Mean: 3.92 fEAEZE Standard Deviation: 1.891



Q4 TEEFZI% » FTHENBEERFAAE T - (RERERE ? 1277 » IREHEZIUE? |
Q4 “ After the handover, the original ways of life of the Hong Kong people have maintained. To what extent would

you agree? From 1 to 7, what score will you give?’

B Btk R E IR EN T (=Pae
Frequency Percentage Valid % Cumulative %
1. 1 91 9.1 9.1 9.1
2. 2 104 104 104 195
3. 3 175 17.5 17.5 37.0
4. 4 176 17.5 175 54.6
5. 5 148 14.7 14.7 69.3
6. 6 134 13.3 13.3 82.6
7. 7 151 15.1 15.1 97.7
88. UEHIZE / 4r¥H 23 2.3 2.3 100.0
Don’t know/ Difficult to say
4E=1Total 1002 100.0 100.0
HREA Valid Sample: 1002 H{EAEZA Omitted Sample: 0
33543 Mean: 4.42 fE%EZE Standard Deviation: 1.868

Q5 "[HEFzi%  HHREETASH  GHEEGEH - INERERE ? 1277 - IREH&ZSIUE ? |
Q5 “After the handover, Hong Kong continues to enjoy the freedoms of speech, association and assembly. To what

extent would you agree? From 1 to 7, what score will you give?’

HREL Horth HRE IR EN T (EPa e
Frequency Percentage Valid % Cumulative %
1. 1 205 20.4 20.4 20.4
2. 2 145 14.5 14.5 34.9
3. 3 170 16.9 16.9 51.8
4, 4 168 16.8 16.8 68.6
5. 5 122 12.2 12.2 80.8
6. 6 61 6.0 6.0 86.9
7. 7 91 9.0 9.0 95.9
88.  DENIE / R 41 4.1 4.1 100.0
Don’t know/ Difficult to say
g&=t Total 1002 100.0 100.0
HREEA Valid Sample: 1002 B EEEA Omitted Sample: 0
SE¥543 Mean: 3.42 fE#EZE Standard Deviation: 1.895



Q6 "[HfFzi% » FAMREBHEERE - IEGIEIREAEERE - Bt 3" - (A RERE ? 12
753 0 RGBSR 7
Q6 ‘After the handover, the development of Hong Kong’s democratic system has been progressively implemented,

following the provision of the Basic Law. To what extent would you agree? From 1 to 7, what score will you give?’

YEE B4 BRESE EEESHT
Frequency Percentage Valid % Cumulative %
1. 1 190 19.0 19.0 19.0
2. 2 169 16.9 16.9 35.9
3. 3 164 16.3 16.3 52.2
4, 4 122 12.2 12.2 64.4
5. 5 101 10.1 10.1 74.5
6. 6 53 5.3 53 79.8
7. 7 94 9.4 9.4 89.2
88. [EBHIE / {FikE 108 10.8 10.8 100.0
Don’t know/ Difficult to say
4E=1 Total 1002 100.0 100.0
BHREA Valid Sample: 1002 B A Omitted Sample: 0
154y Mean: 3.35 fEAEZ Standard Deviation: 1.932

Q7 T[HEF 1% » BFAEARWEHEES ~ BrE S A E SIS ENA RIS - (REKEEIE? 127457
REE%%r?

Q7 ‘After the handover, Hong Kongers continue to be protected by the Law regardless of their economic
capabilities, identities and social classes. To what extent would you agree? From 1 to 7, what score will you give?’

BB Btk HRE R EN (=
Frequency Percentage Valid % Cumulative %
1. 1 81 8.1 8.1 8.1
2. 2 69 6.9 6.9 14.9
3. 3 101 10.1 10.1 25.0
4, 4 213 21.2 21.2 46.2
5. 5 211 21.1 21.1 67.3
6. 6 165 16.5 16.5 83.8
7. 7 150 15.0 15.0 98.8
88. UBHIE / ik 12 1.2 1.2 100.0
Don’t know/ Difficult to say
g&=t Total 1002 100.0 100.0
EREA Valid Sample: 1002 HHEfEA Omitted Sample: 0
SE¥543 Mean: 4.52 fEAEZE Standard Deviation: 1.760



Q8 T[ElfFx 1% » FAEFDMIEIHERR THE - e - (IRARERE ? 1277 - IR
e ? |
Q8 ‘After the handover, Hong Kong is able to keep intact the sovereignty of China, national security and profits

from development projects. To what extent would you agree? From 1 to 7, what score will you give?’

YEE B4 BRESE EEESHT
Frequency Percentage Valid % Cumulative %

1 1 83 8.3 8.3 8.3
2 2 45 45 45 12.7
3 3 75 7.5 7.5 20.2
4 4 181 18.1 18.1 38.3
5 5 279 27.9 27.9 66.2
6 6 143 14.3 14.3 80.4
7. 7 144 14.4 14.4 94.8
88. [EBHIE / {FikE 52 5.2 5.2 100.0

Don’t know/ Difficult to say

4Bt Total 1002 100.0 100.0
BHREA Valid Sample: 1002 F{EAEA Omitted Sample: 0
547 Mean: 4.62 fEAEZ Standard Deviation: 1.714

QY "[HEFZ 1% » BARMUERIFIRIAERIEE - IFEREREIE ? 1277 - IRgE&ZHE ?
Q9 “After the handover, Hong Kong is able to maintain prosperity and stability in the long term. To what extent

would you agree? From 1 to 7, what score will you give?’

SE E e et BEEESH
Frequency Percentage Valid % Cumulative %
1 1 89 8.9 8.9 8.9
2 2 56 55 55 14.4
3 3 98 9.8 9.8 24.2
4 4 198 19.7 19.8 43.9
5 5 244 24.3 24.4 68.3
6 6 146 14.5 14.6 82.9
7. 7 137 13.7 13.7 96.6
88. IEHIE / FEEsE 34 3.4 34 100.0
Don’t know/ Difficult to say
99. RE&E[0% 1 0.1 B
Refused to answer Omitted
g&=t Total 1002 100.0 100.0
BHXEA Valid Sample: 1001 F{EREA Omitted Sample: 1
¥4 Mean: 4.49 WEE Standard Deviation: 1.748



Q10 " EERQUREE - IRRRTEE TG ) AR ? WRLAE TIEE R . BT AR TIE
W) s 0 1875 IRGEREZIE ? |
Q10 ‘How successful has the practice of “Hong Kong people administering Hong Kong” been? If 1 indicates “very

unsuccessful” and 7 indicates “very successful”, what score will you give?”

SES B4 FREStE  ERESH
Frequency Percentage Valid % Cumulative %
1. 1 158 15.8 15.8 15.8
2. 2 119 11.8 11.9 27.7
3. 3 216 215 21.6 49.3
4, 4 198 19.8 19.8 69.1
5. 5 126 125 12.6 81.7
6. 6 64 6.4 6.4 88.1
7. 7 57 5.6 5.7 93.8
88. IEHIE / {FEEsE 62 6.2 6.2 100.0
Don’t know/ Difficult to say
99. fE&E[0% 2 0.2 g
Refused to answer Omitted
4&=1 Total 1002 100.0 100.0
BHREA Valid Sample: 1000 F{ERE A Omitted Sample: 2
154y Mean: 3.46 fE#EsE Standard Deviation: 1.710

Q11 T{RAMNK(E LEEMRAK (RI20474ER]) REREVEE " —EIWH 5 UE ? WR1DRE IFEAE
Ly 0 BT TIREAEG L. 0 12T RGHREZIIE?
Q11 ‘How confident are you in the full implementation of “One Country, Two Systems” in Hong Kong in the

future (before 2047)? If 1 indicates “very unconfident” and 7 indicates “very confident”, what score will you give?’

SEB Ee BRESE BEES
Frequency Percentage Valid % Cumulative %
1. 1 158 15.8 15.8 15.8
2. 2 136 13.6 13.6 29.4
3. 3 223 22.3 22.3 51.7
4, 4 137 13.6 13.7 65.4
5. 5 89 8.9 8.9 74.3
6. 6 62 6.2 6.2 80.5
7. 7 124 124 124 92.9
88.  IEHIE / YR 71 7.1 7.1 100.0
Don’t know/ Difficult to say
99. fE4E[0IE 2 0.2 R {E
Refused to answer Omitted
48=1 Total 1002 100.0 100.0
FHREA Valid Sample: 1000 H{ERE A Omitted Sample: 2
323547 Mean: 3.58 fEEsE Standard Deviation: 1.937



Q12 " #EHhEE A LR & - Ritth o] & @SS pafs DU - (RA SRS 0IE 2 MR 1K
® VEEAEL, » BT TIREAREB L. 181D (REHEEZT 7

Q12 “When conflicts between mainland China and Hong Kong arise, how confident are you that the conflicts can
be resolved through consultation and dialogue? If 1 indicates “very unconfident” and 7 indicates “very confident”,

what score will you give?’

SEY E4rtE BRESLE BB E S
Frequency Percentage Valid % Cumulative %
1. 1 154 15.3 15.4 15.4
2. 2 174 17.4 17.4 32.8
3. 3 179 17.9 17.9 50.7
4, 4 142 14.2 14.2 65.0
5. 5 84 8.4 8.4 73.3
6. 6 71 7.1 7.1 80.4
7. 7 101 10.1 10.2 90.6
88. UBHIME / ik 94 9.4 9.4 100.0
Don’t know/ Difficult to say
99. {E&B[EE 2 0.2 e
Refused to answer Omitted
ga=tTotal 1002 100.0 100.0
HRkEA Valid Sample: 1000 HHEREA Omitted Sample: 2
SE54T Mean : 3.49 fH%EZE Standard Deviation: 1.912

Q13 "MIRINHFE TIEEAE L. - ToRE TIFEARE L. » IREEBREHREA LG LIE ? 127
73 ARG S ?
Q13 “If 1 indicates “very unconfident” and 7 indicates “very confident”, what score will you give?’, how confident

are you in the education system of Hong Kong?’

SE Eisrtt BEStE  EEES
Frequency Percentage Valid % Cumulative %
1. 19y (GEEFIEL) 138 13.8 13.8 13.8
2. 257 95 9.5 9.5 23.3
3. 35 173 17.3 17.3 40.6
4, 4% 295 29.4 29.5 70.1
5. 541 181 18.1 18.1 88.2
6. 657 58 5.8 5.8 94.0
7. 75y (JEEHEEL) 27 2.7 2.7 96.8
88. UEHIZE / 4rEEHE 32 3.2 3.2 100.0
Don’t know/ Difficult to say
99. {EEMHE 1 0.1 A {E
Refused to answer Omitted
ga=tTotal 1002 100.0 100.0
EREA Valid Sample: 1001 HEREA Omitted Sample: 1
SE¥543 Mean: 3.59 fEESE Standard Deviation: 1.540



Q14 TR1pARFE TIRERRE, - ToAFE "IFERE s - B TRGEEN  BEEG - A%
[EUE ? L2757 » IRG &L TUE ? |
Q14 “If 1 indicates “extremely weak™ and 7 indicates “extremely strong”, how strongly do you identify yourself

as a Hong Konger? From 1 to 7, what score will you give?’

SES ELR FREStE  ERESH
Frequency Percentage Valid % Cumulative %
1. 1 8 0.8 0.8 0.8
2. 2 15 15 15 2.3
3. 3 34 3.4 34 5.6
4, 4 76 7.6 7.6 13.2
5. 5 200 19.9 20.0 33.2
6. 6 285 28.5 28.5 61.7
7. 7 331 33.0 33.0 94.7
88, TEHE / FEEsE 53 5.3 5.3 100.0
Don’t know/ Difficult to say
9. TE4E[EE 1 0.1 HR{E
Refused to answer Omitted
4&=1 Total 1002 100.0 100.0
BHREA Valid Sample: 1001 F{ERE A Omitted Sample: 1
44y Mean: 5.77 fE#EsE Standard Deviation: 1.268

Q15 "HRINAE TIFEARE . » TRE TIEERE, o B TIRGHEIA , VEESG - RE R
[FUE ? 12773 > IREEHEZIUE ? |
Q15 “If 1 indicates “extremely weak” and 7 indicates “extremely strong”, how strongly do you identify yourself

as a Chinese? From 1 to 7, what score will you give?’

SEB Byt BRESE BEES
Frequency Percentage Valid % Cumulative %
1. 1 89 8.9 8.9 8.9
2. 2 49 4.9 4.9 13.8
3. 3 63 6.3 6.3 20.2
4, 4 135 135 135 33.7
5. 5 157 15.6 15.7 49.3
6. 6 155 154 155 64.8
7. 7 252 25.1 25.2 90.0
88.  IEHIE / YR 99 9.9 10.0 100.0
Don’t know/ Difficult to say
99. fE&E[OIE 3 0.3 R {E
Refused to answer Omitted
4=t Total 1002 100.0 100.0
BHREA Valid Sample: 999 H{ERE A Omitted Sample: 3
SE54y Mean: 4.88 fEEsE Standard Deviation: 1.946



Q16 "Iy HFE TIFHEEWME s » TR TIEEWE s - IREAB B IR /K A KImEE 2 127
73 ARG S E?
Q16 “If 1 represents “very unsatisfied” and 7 represents “very satisfied”, how satisfied are you with the quality of

the work of civil servants?’

SES B4 FREStE  ERESH
Frequency Percentage Valid % Cumulative %
1. 1 63 6.3 6.3 6.3
2. 2 66 6.5 6.5 12.9
3. 3 170 16.9 16.9 29.8
4, 4 258 25.8 25.8 55.6
5. 5 288 28.8 28.8 84.4
6. 6 99 9.9 9.9 94.4
7. 7 39 3.9 3.9 98.3
88,  IE4N / 17 1.7 1.7 100.0
Don’t know/ Difficult to say
99.  fE&E[0% 1 0.1 g
Refused to answer Omitted
4&=1 Total 1002 100.0 100.0
BHREA Valid Sample: 1001 F{ERE A Omitted Sample: 1
3543 Mean: 4.12 A7 Standard Deviation: 1.436

Q17 T[EIfFAAK » WREEE T —BWH] y EEEFENM G DoP S - BERE - Tl hE— T EER
WOUE ? (RSe (Rl ~ RER TR ~ —F ~ RESIAER - EFRTEEHEARTE ? |

Q17 “After the handover, the implementation of “One Country, Two Systems” has led to conflicts between Hong
Kong and Mainland China. Generally speaking, which side bears the greater responsibility? Is it totally Mainland
China’s, mostly Mainland China’s, mostly Hong Kong’s or totally Hong Kong’s?’

SHEL Horth HX¥ESEE BEESE
Frequency Percentage Valid % Cumulative %
1 sEefmA 49 4.9 5.0 5.0
Totally Mainland China’s
2. KEBSr {5 H#, Mostly Mainland 161 16.1 16.2 21.2
China’s
—22¢ Half-Half 520 51.9 52.3 73.5
K& 4y 4 F #%  Mostly Hong 114 11.4 115 85.0
Kong’s
5E4(4%E# Totally Hong Kong’s 43 4.3 4.3 89.3
EH17E / 8% Don’t know/ 106 10.6 10.7 100.0
Difficult to say
99. fE&E[E%E 8 0.8 R {E
Refused to answer Omitted
4=t Total 1002 100.0 100.0
BHREA Valid Sample: 994 H{ERE A Omitted Sample: 8



Q18 " {ReR Ry 42047 AL IENE IEZ BT 1T T — Bl 5 B ? |
Q18 “Would you agree that Hong Kong should continue to implement “One Country, Two Systems” after 20477’

BB Horth HRE ZEE L
Frequency Percentage Valid % Cumulative %
1. FE=% Yes (Z&[continue to Q19) 751 74.9 75.7 75.7
MEERZ No (BkfEskip to Q20) 89 8.8 8.9 84.7
HAth, - BEEETTUARBIZEART 12 1.2 1.2 85.9
Fr9— B
(48 Continue to Q19)
Others: Continue to exercise 1C2S
as before/ the introduction of 1C2S
6.  Hfth: BEOLA—EWH T4 25 2.5 2.6 88.5
BT —B— N — R
(kM skip to Q20)
Others: 1C2S no longer exists/
1C1S already in place/ 1C2S is
non-existent
8. B E F 8 Don’t Know/ 114 11.4 115 100.0
Difficult to say(k[tskip to Q20)
9 {E4E M) Refused to answer (k11 1.1 EEiE]
' fifiskip to Q20) Omitted
g&=t Total 1002 100.0 100.0

HRkEA Valid Sample: 991

10

B EREA Omitted Sample: 11



Q19 " RELFAEIRAEEN 20474 » DU BRI & TR 2047 1 BE T T T —BIWH o AFIE 2 4 (I
A HQL8[a B FEZ Y32 5E » A B TH)

Q19 ‘From now to 2047, which of the following conditions would be favourable to the continuation of “One
Country, Two Systems” after 2047?” (Only respondents who agree Hong Kong should continue to ‘One Country,
Two Systems’ after 2047 are asked, multiple answers allowed)

IVESEEE %N
HREL REEZ Horth
Frequency Percentage out of Valid
Sample
1. EHE—SRET L 272 35.7%
Democratising further
2. HEERZREE 163 21.4%
Safeguarding National Security
3. 4EFFEEHAE 479 62.8%
Maintaining a high degree of autonomy
4. KORERTESIZE 489 64.2%
Maintaining economic prosperity and stability
5. HAl (5EBH) 6 0.8%
Others (please specify)
8. BRI U EEE 67 8.8%
Don’t know/ Difficult to say
4&=t Total 1477 193.7%
BHREA Valid Sample: 763 HR{E A Omitted Sample: 239

* MESTEREZEE (HEED FRUAREARAE (1683 N) BHHY - [l » HNEFFZaiEs TN —HE
F o WHEEAEE TS 100% -
* The percentage of an option is its frequency divided by the number of valid samples (i.e. 683). Since respondents may choose

more than one option, the sum of percentages may exceed 100%.

11



Q19_OTH " R FALIRAEFI20474 » DU BRI & H T BIR2047T 12 BE BT T —BIWH , AFVE ? |
(HMAEZ)
Q19 _OTH ‘From now to 2047, which of the following conditions would be favourable to the continuation of “One

Country, Two Systems” after 2047?” (Other answers)

BB Horth AREStE BEESL
Frequency Percentage Valid % Cumulative %
11 HA - SR EER S5 E H 2 0.2 29.3 29.3
Others: Maintaining freedom of
speech
12, HAh - f73RFTE— B R ] 1 0.1 8.3 37.6

Others:  Exercising 1C2S as
Macau’s way

13, Hith : FEBUFPETHEA 2 0.2 26.7 64.2

Others: Change of officers for
Central and HK Governments

14, Hpth : B EA 1 0.1 13.9 78.2
Others: Positioning of cities
15, Efth : B2EEITPEERS 1 0.1 21.8 100.0

Others: Learning from the speech
by President Xi Jinping

o MM Not Applicable 996 99.4 B
' Omitted
4=t Total 1002 100.0 100.0
FHREA Valid Sample: 6 H{EE A Omitted Sample: 996

12



Q20 " FHABF L2 ECKEMYEM T - (R —BW SR EHEE - ARPE - ClhEZERE ? |
Q20 ‘The National Security Law of Hong Kong has been implemented for two years. Do you think that it brings

positive, negative or no impact to One Country Two Systems?’

B Btk R E IR EN T (=Pae
Frequency Percentage Valid % Cumulative %
1. EHE 245 24.5 24.7 24.7
Positive
2. HEMH 398 39.7 40.0 64.7
Negative
3. PR 200 20.0 20.1 84.8
No impact
8. BRI YrEEE 151 15.0 15.2 100.0
Don’t know/ Difficult to say
9. {E&E[EE 8 0.8 EE
Refused to answer
4=t Total 1002 100.0 100.0
FHREA Valid Sample: 994 H{EE4~ Omitted Sample: 8

Q21 ' FHARCLEH B AR E VW 2T (REE IR FEVEIERZ 5 R EE ?
Q21 “As the National Security Law and new electoral systems have been implemented in Hong Kong already, do
you think that the electoral reform should be launched now?’

FREL Horte HRE R EN (=
Frequency Percentage Valid % Cumulative %
1. T 369 36.9 37.5 37.5
Should
2. IEEY 309 30.8 314 68.8
Should not
8.  IEHIE sk 307 30.7 31.2 100.0
Don’t know/ Difficult to say
9. {EREME 17 1.7 B E
Refused to answer Omitted
4&=1 Total 1002 100.0 100.0
BHREA Valid Sample: 985 HR{EiE A Omitted Sample: 17

13



Q22 "rEEE B EE I AE R HAM T E(E S & (FIFHE ~ gk ~ feER - BIk) 7 GhE - 505

g EAREEIE?

Q22 “Would you consider living or moving to other cities of Guangdong-Hong Kong-Macau Greater Bay Area

(for study, employment, business or retirement)?’

SEBY ELR BREStt  BEESH
Frequency Percentage Valid % Cumulative %
1. —E% Definitely will 44 4.4 45 45
2. H[HE® Maybe 197 19.7 20.0 24.4
3. IEE No 687 68.6 69.6 94.1
8. BRI YrEEE 59 5.8 5.9 100.0
Don’t know/ Difficult to say
9. {E&E[EE 15 1.5 EE
Refused to answer Omitted
#a=t Total 1002 100.0 100.0

FHREA Valid Sample: 987

Q23 T RAAK LA b T B BB N TRIE 2

Q23 ‘Do you have any plans to emigrate from Hong Kong in the next five years?’

BHEREA Omitted Sample: 15

HHEL Horth HRHE 7 ZrEE I
Frequency Percentage Valid % Cumulative %
. HITE Yes 154 15.4 15.8 15.8
2. fEFTH No 727 725 74.4 90.2
WERIE i EE 95 9.5 9.8 100.0
Don’t know/ Difficult to say
9.  IE&E[NE 26 2.6 HR{E
Refused to answer Omitted
4a=fTotal 1002 100.0 100.0

FHakEA Valid Sample: 976

14

FEREA Omitted Sample: 26



POL " EFEREIBUAMHIAEN - {REGH CHEm DI TN EEEEE 7 5 GEHL1-6)
POL “When asked about your political inclination, which political camp do you incline to identify yourself with?’
(Read options 1-6)

SE ERe BRESE  EEES
Frequency Percentage Valid % Cumulative %
1. IR Pro-establishment 70 7.0 7.3 7.3
2. ERFJk Pro-democrat 87 8.6 9.0 16.3
3. A +Jr Localist 34 34 35 19.8
4, hfEJR Centrist 119 11.9 12.4 32.2
5. di {F {o] B )& fH 7] No political 570 56.9 59.4 91.6
inclination
11, HAh : JEE#HIJR Others: Non- 5 0.5 0.5 92.1
establishment
14, HAth : BEEE 2 0.2 0.2 92.3
Others: Love Mainland China and
Hong Kong
16.  HAth : HEBFHIBE 2 0.2 0.2 92.5
Others: Parties which are good for
Hong Kong
18.  Hith ' EFIRMFHEIR 1 0.1 0.1 92.6
Others: Pro-democrat and centrist
22, HAh: A={EANFRTIIR 1 0.1 0.1 92.7
Others: New  pro-democrats
established in recent three months
88.  UBAE UrEEsE 70 7.0 7.3 100.0
Don’t know/ Difficult to say
9. 1E4E[0)E Refused to answer 42 4.2 ﬂ@_
Omitted
4E=1Total 1002 100.0 100.0
BERHEA Valid Sample: 960 B{EREA Omitted Sample: 42
GENDER =553 R Gender of respondents
SE G AUEAL  BEESH
Frequency Percentage Valid % Cumulative %
. 5 Male 471 47.1 47.1 47.1
2. 7. Female 531 52.9 52.9 100.0
4&=1 (Total) 1002 100.0 100.0
HREA Valid Sample: 1002 HHEREA Omitted Sample: 0
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AGE T {REBINEL T EEFEEAHAIE 2 ‘Which age group does you belong to?’

(584 Read options 1-6)

SEB E453LE BFRESE BEESG
Frequency Percentage Valid % Cumulative %

1. 18-29 140 13.9 13.9 13.9

2. 30-39 159 15.9 15.9 29.8

3. 40-49 174 17.3 17.3 47.1

4. 50-59 193 19.2 19.2 66.4

5. 60-69 180 18.0 18.0 84.3

6. >70 157 15.7 15.7 100.0

4&=1 (Total) 1002 100.0 100.0

FHREZA Valid Sample: 1002

HHEREA Omitted Sample: 0

EDU " I S F2RE L FEIE ? | ‘What is your educational attainment?’

SHEL Horth BRESE  BEESE
Frequency Percentage Valid % Cumulative %
1. /INEECLLUR Primary or below 113 11.3 11.7 11.7
) G (—Z =) Secondary (F.1- 139 13.8 14.4 26.1
' F.3)
3 5 (U Ep4ER} ) Secondary 314 31.3 325 58.6
(F.4-F.7)
4. H EIEEMu (BFESCEEIEEHAVE 120 12.0 125 711
%)
Non-degree tertiary (including
diplomas, associate degrees, IVE, etc.)
NEZEENT Bachelor’s degree 222 22.2 23.0 94.1
belE (AR AR LS ) 57 5.7 5.9 100.0
Postgraduate  degree  (including
master’s and doctoral degree)
9. FE4 (0] % Refused to answer 37 3.7 ﬁ%ﬁ
Omitted
4&=1 (Total) 1002 100.0 100.0

EREA Valid Sample: 965

HEREZA Omitted Sample: 37

WORK " {i HHi{&IE(4FERE A IE 2 | ‘Are you currently an employed person?’

SE ELR FWESE EREESH
Frequency Percentage Valid % Cumulative
FEM% A1 Employed 525 52.4 54.2 54.2
) FHZFEH Homemaker 108 10.8 11.2 65.4
3. JE{K Retired person 212 21.2 21.9 87.3
A (SE VA AR(IE S 68 6.8 7.0 94.3
Job seeker
E4: Student 55 55 5.7 100.0
1480 Refused to answer 35 35 HE
4&=+(Total) 1002 100.0 100.0

HREA Valid Sample: 967
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B RREBIR IR
Explanatory Notes on Weighting

AR EBNVEAE (Dual frame) BWEEHRISHIBERGT - SIS T8 BRI EEHEEEEIRI T
PSRBT E A B A BB SRR A - FHY FIRH A R = I A BE S SR S A T ARy A R BUR %
DRI L BB 2R BB 10 - Ryl oo W (B BRAE 2R BB B A A IR N R AT RIS Ay (R itiat - &
06 SEADNIN SR It R i

The telephone survey uses a dual-frame sampling design. It randomly selects phone numbers from a combined
sample of residential landline and mobile phone numbers. Given many individuals may own both landline and
mobile phone numbers, two steps were added in the weighting method to avoid estimation inaccuracy caused by
double-counting or other unknown factors. The weight factors are as below.

FE—  ERESSRAR
Step 1: Telephone ownership

B AR A [FIRH BYIE 4 KO BN ah TS - T T avieRt AR E » REIFREM— AR
T > B DREMREFHZIEREEMTEIRER > RIS 28 E A R = E S E LSR5
FHESRISEE - HEb 2B EE RS F TR -

Since each individual owns a different amount of landline and mobile numbers, each has a different probability of
selection as respondents. To eliminate over-representation of any individual, the first step is to approximate the
probability of selection for each respondent. It is a ratio of the amount of landline and mobile numbers owned by
a respondent to the total number of those in the territory.

= i = FiH Ry AL
n, = PR R ZIN eS|
N, = S H o EE S R R SRR
ti = Fi N LR P AR E AR EE
ef = EFhEERZIHAR
N = ERY: A= N A=
Np, = B R i
t" = FHi A LE A AR TR H
Where i = i-th person selected
n, = amount of sample’s landline numbers
N = amount of population’s landline numbers
th = amount of i-th person’s landline numbers
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€ = amount of eligible respondents in the household

Ny, = amount of sample’s mobile numbers
N = amount of population’s mobile numbers
t" = amount of i-th person’s mobile numbers

IFERT-1 (WTL) Z R T R e & i R en Ryt e > BIWTLi =t -
Weighting factor 1 (WT1,) is calculated by the inverse of probability of selection of individual i, i.e. WT1; = m;™.
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FEE— 0 AOfERE

Step 2: Population estimates

FH Y A Bt e S FIURR 2 DA 4 R TR R iy (BB R dEatfttls) - M ERleB AD A
0> By T IReE BB RE MR B N AV E BRI - BRI T TR & B4t A iy 2021
FEPI8FEELL EVER R Flie i (UERIMERIER L) - IIfERT-2 (WT2) AYstREGA - BIEAO
et P MERIRI R AE I A it - BREAREAIREN T LI A F 2 o S FEAH A CIEAS -

As the telephone survey uses a dual-frame sampling design which samples from phone numbers for residential
landlines and mobile phones (i.e. all samples are telephone numbers). To better represent the distribution of the
Hong Kong population, all data were weighted by the proportion of gender and age of people aged 18 or above
(excluding foreign domestic helpers) according to the mid-year population for 2019 released by the Census and
Statistics Department. Weighting factor 2 (WT2) is calculated by dividing the population estimates of a gender
and age group by the sample size of the corresponding group adjusted by weighting factor 1.

NIRER T LIRERAY
02UAFAFEH ALIS i (%) |BsEsyaries
G| Mid-year Population A5 (%) HOtER -+
Age Group Distribution for 2021 Population  Distribution ~ of|Weighting Factors
(%) Survey after weighted by WT1
(%)
B Male 7 Female B Male % Female B Male % Female
(A) (B) © (D) (A=C) (B+D)
18-29 432300 421300 571150 718004 0.756893834  |0.586765371
30-39 462100 508800 441462 706321 1.046749224 0.720352443
40-49 476400 586300 657743 677171 0.724294725  |0.865807865
50-59 529000 648600 891846 721535 0.593151901  |0.898916948
60-69 539800 561600 904512 714070 0.596785814  |0.786477736
>70 442800 516500 533183 636118 0.830484571 0.811955995
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& FEE Final Step

B IFER T AT ETANT ¢

The final weighting factor is calculated by the following formula.

WT_F =WT1 = WT2

= WT_F = AR NIRRT
WT1 = DIFER -1
WT2 = IIFER -2

Where WT_F = Final weighting factor
WT1 = Weighting factor 1
WT2 = Weighting factor 2
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